Political Balance Annual Meeting December 2021 67 Councillors lllustration 1

Labour Independents Conservatives Liberal FCC Independent Non Aligned Non Aligned Non Aligned Total.
Democrats Clir Allport ClIr Hutchinson Clir Marshall Councill

No.of councillors 31 24 2 4 3 1 1 1 67
% of councillors 46.27% 35.82% 2.99% 5.97% 4.48% 1.49% 1.49% 1.49% Total
Notional entitlement| 56.91 44.06 3.67 7.34 551 1.84 1.84 1.84 Seats
Allocation of seats 57 44 4 7 5 2 2 2 123.00
Community, Housing | ¢ | 55| 45| 5 |430|070| o |o036|-036] o |o072|-072] o | 054|054 o |o018|-018] 2 |o018| 082 | o |08 018]| 22
& Assets OSC
Corporate

6 5.55 | 0.45 4 4.30 | -0.30 0 0.36 | -0.36 0 0.72 | -0.72 0 0.54 | -0.54 1 0.18 | 0.82 0 0.18 | -0.18 1 0.18 | -0.82 12
Resources OSC
Education, Youth & | ¢ | 555 | 045 4 | 430]|-030| o |o036|-036] 1 |o072]028] o |o054|-054] 0 |o018|-018] 1 |018| 082| o |018|018]| 22
Culture OSC
Environment & Econd 6 5.55 | 0.45 4 4.30 | -0.30 0 0.36 | -0.36 0 0.72 | -0.72 1 0.54 | 0.46 1 0.18 | 0.82 0 0.18 | -0.18 0 0.18 | 0.18 12
g‘;cc'a' &Healtheare | ¢ | 555 | 045| 4 | 430|-030| o |o036|-036] 1 |o072]o028| o |o054]|-054 o |o018|-018] o |o018|-018| 1 |o018|-082] 22
Planning 8 7.87 | 0.13 6 6.09 | -0.09 1 0.51 | 0.49 1 1.01 | -0.01 1 0.76 | 0.24 0 0.25 | -0.25 0 0.25 | -0.25 0 0.25 | 0.25 17
Licensing 5 5.55 | -0.55 5 4.30 | 0.70 0 0.36 | -0.36 1 0.72 | 0.28 1 0.54 | 0.46 0 0.18 | -0.18 0 0.18 | -0.18 0 0.18 | 0.18 12
Audit 2 2.78 | -0.78 2 2.15 | -0.15 1 0.18 | 0.82 1 0.36 | 0.64 0 0.27 | -0.27 0 0.09 | -0.09 0 0.09 | -0.09 0 0.09 | 0.09 6
Constitution and 7 | 740|-040| 6 [573|o027] 1 |o048|o052| 1 |[o096|00a| 1 |072|028] 0 |o024|-024| 0 |024|-024] 0 |024|024] 16
Democratic
Pensions 2 231 ]-031 2 179 | 0.21 0 0.15 | -0.15 1 0.30 | 0.70 0 0.22 | -0.22 0 0.07 | -0.07 0 0.07 | -0.07 0 0.07 | 0.07 5
Joint Pensions 1 0.46 | 0.54 0 0.36 | -0.36 0 0.03 | -0.03 0 0.06 | -0.06 0 0.04 | -0.04 0 0.01 | -0.01 0 0.01 | -0.01 0 0.01 | 0.01 1
Fire Authority 2 2.78 | -0.78 2 2.15 | -0.15 1 0.18 | 0.82 0 0.36 | -0.36 1 0.27 | 0.73 0 0.09 | -0.09 0 0.09 | -0.09 0 0.09 | 0.09 6
Total to Group 57 | 56.91 44 | 44.06 4 | 367 7 | 734 5 | 551 2 | 184 2 | 184 2 | 184 123
Grievance 6 6.01 | -0.01 4 4.66 | -0.66 1 0.39 | -0.61 1 0.78 | -0.22 1 0.58 | 0.42 0 0.19 | -0.19 0 0.19 | -0.19 0 0.19 | -0.19 13
Grievance Appeals 6 6.01 | -0.01 4 4.66 | -0.66 1 0.39 | -0.61 1 0.78 | -0.22 1 0.58 | 0.42 0 0.19 | -0.19 0 0.19 | -0.19 0 0.19 | -0.19 13
Invest + Disc 6 6.01 | -0.01 4 4.66 | -0.66 1 0.39 | -0.61 1 0.78 | -0.22 1 0.58 | 0.42 0 0.19 | -0.19 0 0.19 | -0.19 0 0.19 | -0.19 13
If the allocations come to a total that is too high/low then the numbers along the bottom/on the right change colour
TABLE 2

Labour Independent Conservatives Liberal Democrats | FCC Independent Non-Aligned Non-Aligned Non-Aligned

Scrutiny chairs
Notional 2.31 1.79 0.15 0.30 0.22 0.07 0.07 0.07
Actual 2or3 lor2 0 1 0 0 0 0

Groups with a seat on cabinet round down, and groups without round up, their entitlement to OSC chairs. In this scenario if Labour are in the cabinet
then they have 2 chairs and the Independent group 2. If the Independents are in the Cabinet, then Labour would get 3 chairs in this scenario because
their entitteement is higher than any other group, and the Independent Group would get 1.
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